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class Node {

public:
int data;
Node * next; 54 ‘ |
} Nul|
Node ndl;
ndl.data = 54; nd1

ndl.next = 0;

Node * nd2 = new Nodeg();
Nd2->data = 54;
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Class Node { Node nodel(53, null);
public:

int data;
intf dafa Node* nd1 = &nodel;

Node * next;
Node* nd2 = new Node(10, null);

Node(int data, Node* next) {

this.data = data;
this.next = next; Ndl->next = nd2;

} Nnd2->next = &nodel;
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class LinkedList {

orivate: LinkedList ¢ Node ¢aiall w2 O
Node * first; ppasy oli alodl yudi (89 Graiall MS )25 S0y O
int size; lo (58 o JS w2 oS O

oublic: ol 5=l (o8 Node wiall w0 S O

/elacVl 2ledl 0,0 Ld LinkedList wiall 0
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class LinkedList {
private:
Node * first;
int size;
public:
LinkedList() {
first = 0;
size = 0;
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class LinkedList { ey sl yuaiu Y first ,amgodl UgS oo 2SLu O
private:
Node * first;
int size;
public:
bool isEmpty() {
return (first == 0);
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Node * currNode = first;

While ( currNode = null ) {
currNode = currNode->next;

}

currNode

first =% Tomato / Orange / Garlic /# ’I
null
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Node * currNode = first;

While ( currNode = null ) {
currNode = currNode->next;

}

currNode
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null
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class LinkedList { agllaoll dasell (sJl ,ugo d3lel pg8) O
public:

Node* getNode(int pos) {
inti=1;
Node * currNode = first;
while (i I= pos and currNode->next = null) {
currNode = currNode->next;
|++;

}

return currNode;
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class LinkedList {
public:
void insert(int pos, int value) {
Node* newNode = new Node(value, 0);
if (pos==1){
newNode->next = first;
first = newNode;
} else {
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class LinkedList {
public:
void insert(int pos, int value) {

Node* newNode = new Node(value, 0);

if (pos==1){
newNode->next = first;
first = newNode;

} else {
Node* preNode = this.getNode(pos - 1);
newNode->next = preNode->next;
preNode->next = newNode;

} size++;
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class LinkedList {
public:
void delete(int pos) {
Node* currNode = this.getNode(pos);

if (pos ==1){
first = currNode->next;
} else {

Node* preNode = this.getNode(pos - 1);
preNode->next = currNode->next;

}

delete currNode; size--;



